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General Instructions :

(1 All questions are compulsory.

(i) This question paper has two sections.

(iii) Section *A’ has 20 Multiple Choice Questions of 20 marks whose answers have to be

given on OMR sheet.
Do not cut the answer after marking it on OMR sheet and do not use eraser. whi
» Whitener.

(i‘.’} .
The second section ‘B’ has descriptive questions of §0 marks

(v)

(vi)  This section has total 5 questions.
: : 10 the very beginning as to
(vii) ~ Itis clearly mentioned at y beginmg &5 to how many parts of the question are
to be answered. _
are mentioned against it,

(viii)  Marks allotted to each question nec
(ix)  Start from the first question and procee 10 the last. Do not waste your time over a

question which you can not solve.
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SECTION - ‘A’ 20

(Multiple Choice Questions)

l. Which one is a pair of co-prime numbers ? !
(A) (18,25) (B) (5,15)
€ (7,21 (D) (31,93)

2. The sum of the powers of prime factors in prime factorization of 144 is 1
(A) 5 - (B) 6
< 7 (D) 8

3. For what value of ‘m’, pair of equations x = 2y = 3 and 3x + my = | will have unique
1

solution ?
(A) m=-6 (B) m=0only
(C) m#-6 (D) m#0
4.  The solution of 2x + 3y = 18 ; x — 2y = 2 will be - 1
(A) x=6,y=2 (B) x=3,y=4
(C) x=3,y=8 (D) x=0,y=6

5. For which value of k, there will be an infinite number of solutions for the pair of linear

equations x +ky =l and kx +y = K29 1
&)+l (B) #I
© - D) s
6. If ITE—Z = '717 , then the .value of x will be - 1
(A) 12 B) *1
€ %3 D) +5
[50f12] (W-7) PIT.O.
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7.  The centre (2, —3) of a circle has diameter 88 AB. The coordinate of B is (1, 4). The

coordinate of A will be : 1
(A) (3,10 (B) (10,3)
(© (-10,3) (D) (3.-10)

8.  Ifroots of the equation 3x* — |2y -y = g gre equal, then value of k will be - 1
(A) 12 B) 4
© 7 (D) 9

9. Two figures whose shapes are sam¢ hyt the dimensions are not essentially same are

called - 1
(A) equal figures (B) similar figures
(C) symmetrical figures (D) congruent figurcs

10. If the corresponding sides of two similar triangles are in the ratio 3 : 5, the ratio of their

areas will be — ) 1
(A) 9:25 (B) 6:10
€) 3:5 (D) 25:9

11. Ifthe sides of a triangle are 3 cm, 4 cm and 5 cm, then the triangle will be — 1
(A) right angle tnangle (B) acute angle triangle
(C) obtusc angle tmangle (D) tnangle is not possible

12.  The perimeter of two similar triangles arc 10 ¢cm and 15 ¢m respectively, find ratio of

their areas. 1
(A) 3:4 (B) 4:9
(C) 3:2 (D) 2:1
13. Iftan 8 = 8/15, then the value of cosec 8 will be - 1
17 3
(A) 3 (B) 17
4 15
(C) 3 (N 17

822(e8) [80f12) (W-n)



14, 1f2cos 308 =1, then value of 0 will be -
(A) 10° (B) 1s°

() 20° (D) 2%°

‘ L = - B 4 H : . - ’
1S, The circumferences of two circles are in the ratio 3 ; 2. then the ratio of their arcas will

be - 1
(AY 7:9 B) 4:9
iy 2:3 Ny 9:4

16.  If two hemispheres of equal radius ‘" are joined by their bases, then the curved surface

area of this new solid will be - !
(A) dnr (B) 8=r?
(C) é6nr (D) 2xr?
17.  Which one of the following is not a measure of central tendency ? 1
(A) Mean (B) Median
(C) Mode {D) Standard deviation
18. The anthmetic mean of natural numbers | to 9 will be - 1
(A) 3 (B) 4
(C) 3 (D) ¢
19. In a given frequency distribution, if the mean is 15 and median is 16, then its mode will
be -~ 1
(A) 16 (B) 18
(C) 15 D) 17
20. Median of the first 10 natural numbers will be - 1
(€) 54 (D) 55
[70112] (W-7) P.T.0.
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m - 1‘- -"SECTION - ‘B' 50

(AT W73 | [y eqcriptive questions)

aft @z Hifse | 12
@ R s +\[3 = sy wgm 2 | 2
(@) ﬂﬁcosA=32EiT,thanmmm, 2
() Wﬁﬁﬂ%ﬁm%mma@,mwmmaﬁﬁwﬁwt
TR R | 2
@) 3 stz & miftyan ) o i 2
|t 'G-ID 10-20 zu.;tri 30-40 | 40-50
HTOdn 4 2 8#- 30 J 15 5 |
(%) 8 fag & Fréwis 7 Hifor A fagadi (1, 7) 3 (4, -3) F1 e A T v
ﬁ2:3*mﬁﬁﬂﬁﬂmil 2
(®) K& feamm & fomo famg (K, 1), 2. A 4, 5) 0 & @ wE 2
Do all the parnts : 12
(a) Prove thatST\f?isan rrational number., 2
(b) ll‘cos.*\=3'-,E. then find value of sin 2A. 2

(c) Prove that the twice of the volume of 1 cylinder is equal to the product of its radius

of base and curved surface 2
(d) ,Eind the median of following data : _ 2
i Class interval | 0-10 | 10-20 | 20-30 ' 30-40 | 40-50
- -f— 3
JFrequcncy 2 8 30 | 13 'S _J

(¢)  Find the coordinates of the point which divides the line segment formed by joining
the points (-1, 7) and (4, -3) in the ratio 2 - 3. 2

()  For what value of K, points (K, —1), (2. 1) and (4. 5) will be on same line ? 2
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M 3 ABC # w1 ifo forit BC - ¢ &, AB - 3 & 3 LABC - 45° 81 | T&
mﬁgﬁa~ABC'ai'rrama$ﬁn_hvﬁmgmumcﬁgmaﬁaﬁ3.-41?%1

Te ¥ T2 e 4 faftan | a
(@) o3, 3R BD L AC TN CE L AR, 7 fag #ifg i A AEC ~ A ADB. 4
C
D
F
-I\-
A - B
(%) Trefafea aoara aoft § sara a g S 4
(W 0-10 | 1020 2030 | 30-40 | 40-50
= 1 :
AR 5 12 25 10 8 l
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et | 13 | 38 | &7 Lw l 911
4 — R
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2. Answer any five of the following parts | 20
(a) Show through graphical method that lincar equation system 3x —~ y = 2 and
9x — 3y = 6 have infinite number ol salutions. a

(b)  The sum of the digits of a two digitlnumbcr 15 9. If the digits of the number are
interchanged then the new number will exceed the original number by 27. Find the
number, 4
Construct A ABC in which BC=6¢m AB = 3 cm and ZABC = 45%, Construct a
similar triangle ‘ABC’ whose corresponding sides are 3/4 of sides of A ABC.
Write the steps of construction in bricf, 4

(¢)

ot 12 i
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(d) In the figure, if BD L AC and CE | AB, prove that A AEC ~ A ADB.

C
D
F
) x
F B
(¢) Find the arithmetic mean from following frequency table :
Class interval | 0-10 | 10-20 | 20-30 | 30-40 | 40-50
Frequency 5 12 25 10 8
(f)  Find the mode of the following data :
Class interval -3 3.5 5-7 7-9 9-11
| Frequency 7 8 2 2 1
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1 1
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Solve the following pair of equations by converting these into linear pair of e
1

| l quations |
1
1‘,_3)‘,_2-3x+2y=13f‘16

OR
Sum of areas of two squares is 117 m*. If difference between their perimeters is 12 m

then find the sides of both the squares.
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4. From the top of a tower 60 meter high, the anles of depression of top and bottom of a
building (house) are 45° and 60° respectively Find the height of the building and 1ts

distance from the tower ¢

OR

Two pOlﬂ of equal height are placed opposite 1o cach other on erither sude of a road 8O
meter wide. From a point on the road betw con these two poles, the angles of elevation of
the top of the poles are 60° and 307 respe.tively. Find the hewght of the poles and the

distance of the point from the poles 6
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mbankment 1$ made b)

14 meter. An emb
depth of

A well of 3 meter in diameter is dug to a
£ 4 meters wide, evenly

around the
spreading the soil out of it, making a circulsr NP8 0

well. Find the height of the embankment.

OR

- - respectively 1s
A hollow sphere whose inner and outer diameters are 4 cm and 8 cm respec

T : .ght and curved
melted to form a cone whose base is 8 cm in diameter. Find the slant heigh

6
surface area of the cone.
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